
Naam: JuniorEinstein.nl

Oefening 1

1. 84,44 × 10 =  

2. 17,49 × 1.000 =  

3. 61,98 × 1.000 =  

4. 98,57 × 100 =  

5. 90,15 × 100 =  

6. 80,57 × 10 =  

7. 13,39 × 100 =  

8. 85,96 × 100 =  

9. 11,68 × 100 =  

10. 77,52 × 1.000 =  

Oefening 2

1. 51,97 × 1.000 =  

2. 99,75 × 1.000 =  

3. 85,88 × 10 =  

4. 3,63 × 100 =  

5. 32,88 × 1.000 =  

6. 48,51 × 10 =  

7. 58,54 × 10 =  

8. 28,22 × 10 =  

9. 64,10 × 1.000 =  

10. 54,11 × 10 =  

Oefening 3

1. 73,20 × 1.000 =  

2. 60,63 × 1.000 =  

3. 96,41 × 100 =  

4. 89,65 × 1.000 =  

5. 14,50 × 10 =  

6. 44,58 × 100 =  

7. 17,98 × 1.000 =  

8. 5,32 × 10 =  

9. 72,97 × 10 =  

10. 96,42 × 1.000 =  

Oefening 4

1. 67,11 × 100 =  

2. 5,62 × 100 =  

3. 78,62 × 100 =  

4. 100,94 × 10 =  

5. 36,24 × 1.000 =  

6. 12,30 × 1.000 =  

7. 99,86 × 10 =  

8. 67,12 × 1.000 =  

9. 26,83 × 100 =  

10. 57,75 × 100 =  

Kommagetal vermenigvuldigen met 10, 100 of 1.000



JuniorEinstein.nl

Oefening 1

1. 84,44 × 10 = 844,4

2. 17,49 × 1.000 = 17.490

3. 61,98 × 1.000 = 61.980

4. 98,57 × 100 = 9.857

5. 90,15 × 100 = 9.015

6. 80,57 × 10 = 805,7

7. 13,39 × 100 = 1.339

8. 85,96 × 100 = 8.596

9. 11,68 × 100 = 1.168

10. 77,52 × 1.000 = 77.520

Oefening 2

1. 51,97 × 1.000 = 51.970

2. 99,75 × 1.000 = 99.750

3. 85,88 × 10 = 858,8

4. 3,63 × 100 = 363

5. 32,88 × 1.000 = 32.880

6. 48,51 × 10 = 485,1

7. 58,54 × 10 = 585,4

8. 28,22 × 10 = 282,2

9. 64,10 × 1.000 = 64.100

10. 54,11 × 10 = 541,1

Oefening 3

1. 73,20 × 1.000 = 73.200

2. 60,63 × 1.000 = 60.630

3. 96,41 × 100 = 9.641

4. 89,65 × 1.000 = 89.650

5. 14,50 × 10 = 145

6. 44,58 × 100 = 4.458

7. 17,98 × 1.000 = 17.980

8. 5,32 × 10 = 53,2

9. 72,97 × 10 = 729,7

10. 96,42 × 1.000 = 96.420

Oefening 4

1. 67,11 × 100 = 6.711

2. 5,62 × 100 = 562

3. 78,62 × 100 = 7.862

4. 100,94 × 10 = 1.009,4

5. 36,24 × 1.000 = 36.240

6. 12,30 × 1.000 = 12.300

7. 99,86 × 10 = 998,6

8. 67,12 × 1.000 = 67.120

9. 26,83 × 100 = 2.683

10. 57,75 × 100 = 5.775

Antwoorden: Kommagetal vermenigvuldigen met 10,
100 of 1.000
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